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SENOMNE | BEMES 172A2016 | B4 \ 71457 | PriEMh Bk e
SMERH O T inICHET 5L SERHEA
ﬁf‘g TREOBBOFELADOKRES rTaFOHBESELNDOKRES TREFOBBOEILADKRES TREDHESSLADKRES
= = WE A\ [ WE A\ T = = = = = AN = [ =
= X 4 .(Er,na; ‘Fimb(z)mﬁﬁﬁ jj(gifn%é X 4 ‘Fimﬁréﬁzg)n;kili .(sr.né; jj(gifn%é X 4 .(Er,na; J:im;b(z)wtt.s. jj(gifn%é X 4 J:im;b(z)d)tt.s. .(sr.né; ﬁ(gifn%é
; 100kN/MZ#B% % - -~ - -|3mEHEZD -~ - - -| 100kN/mM%# 2z % - -~ - -|3mEHEZ B -~ - - -
Zzh st 100000 ~ 452 56.35 | Ths | 000 ~ 452|191 9.67 Zzh st 1.00 | 5.00 ~ 5.00 56.35 | =N | 500 ~ 500 1.91 9.67
2 100kN/MZ#B% % - -~ - -|3mEEZD -~ - - -| 100kN/mM%# %% - -~ - -|3mEEZ B -~ - - -
Zzh st 1001000 ~ 247 32.79 | =S 000 ~ 247|269 13.60 Zzh st 1.00 | 5.00 ~ 728 3279 | =nLS | 6.00 ~ 7.258|2.69 13.60
3 100kN/MZ#B% % - -~ - -|3mEEZD -~ - - -| 100kN/mM%# %% - -~ - -|3mEEZ B -~ - - -
Zzh st 1001000 ~ 278 36.22 | =S (000 ~ 278|275 13.88 Zzh st 1.00 1 5.00 ~ 913 3622 | TnLS |6.00 ~ 913|275 13.88
p 100kN/MZ#B% % - -~ - -|3mZ#BZ 5| 000 ~ 011|319 16.14 | 100kN/m%#B %% - -~ - -|3mEEAB| 500 ~ 9.53|3.19 16.14
Zzh st 1001000 ~ 127 20.10 | Ths | 011 ~ 1.27] 3.00 15.16 Zzh st 1.00 | 5.00 ~ 953 20.10 | #nS | 5.00 ~ 5.00 | 3.00 15.16
5 100kN/MZ#B% % - -~ - -|3mEHEZD -~ - - -| 100kN/mM%# 2% - -~ - -|3mEEZ B -~ - - -
Zzh st 1.00 1000 ~ 208 2860 | ThS | 000 ~ 208)| 287 14.562 Zzh st 1.00 1 5.00 ~ 841 2860 | EnS | 5.00 ~ 841|287 14.562
6 100kN/MZ#B% % - -~ - -|3mEHEZD -~ - - -| 100kN/mM%# %% - -~ - -|3mEHEZ B -~ - - -
Zzh st 1001000 ~ 447 55.81 | s 000 ~ 447|245 12.39 Zzh st 1.00 | 5.00 ~ 9.69 55.81 | =N | 5.00 ~ 9.69 | 245 12.39
7 100kN/MZ#B% % - -~ - -|3mEHEZD -~ - - -| 100kN/mM%# 2% - -~ - -|3mEEZ B -~ - - -
Zzh st 1.00 | 000 ~ 616 77.33 | TS | 000 ~ 616|275 13.92 Zzh st 1.00 | 5.00 ~ 10.79 77.33 | TRLUS | 6,00 ~ 1079 2.75 13.92
P 100kN/MZ#B% % - -~ - -|3mEHEZD -~ - - -| 100kN/mM%# 2z % - -~ - -|3mEEZ S -~ - - -
Zzh st 1.00 | 000 ~ 736 93.90 | =St | 000 ~ 736\ 1.99 10.056 Zzh st 1.00 |1 5.00 ~ 1033 93.90 | =nS | 5,00 ~ 1033) 1.99 10.05
9 100kN/MZ#B% % - -~ - -|3mEHEZD -~ - - -| 100kN/mM%# 2z % - -~ - -|3mEEZ S -~ - - -
Zzh st 1.00 1000 ~ 649 81.71 | #nhidst | 000 ~ 000|176 8.88 zhnLst 1.00 | 5.00 ~ 769 81.71 | #hst | 65.00 ~ 769|176 8.88
10 100kN/MZ#B% % - -~ - -|3mEHEZD -~ - - -| 100kN/mM%# 2% - -~ - -|3mEEZ S -~ - - -
Zzh st 1.00 | 0.00 ~ 6.60 83.27 | #ns | 000 ~ 660\ 1.87 9.46 zhnLst 1.0015.00 ~ 817 83.27 | #hst | 6500 ~ 817 1.87 9.46
17 100kN/MZ#B% % - -~ - -|3mEHEZD -~ - - -| 100kN/mM%# 2z % - -~ - -|3mEEZ B -~ - - -
Zh s 1.00 | 000 ~ 551 68.80 | #nhust | 000 ~ 0.00| 1.65 8.35 Zh s 1001500 ~ 616 68.80 | ThS | 500 ~ 6.16 | 1.65 8.35
12 100kN/MZ#B% % - -~ - -|3mEHEZD -~ - - -| 100kN/mM%# 2% - -~ - -|3mEEZ B -~ - - -
Zzh st 1.00 1000 ~ 649 81.73 | EnhAs | 000 ~ 000| 1.67 842 zhnLst 1.00 | 5.00 ~ 7.85 81.73 | #hst | 500 ~ 785 | 1.67 842
13 100kN/M%#B% % - -~ - -|3mEHEZD -~ - - -| 100kN/mM%# 2z % - -~ - -|3mEEZ B -~ - - -
Zzh st 1.00 1000 ~ 741 94.54 | =S 000 ~ 741|204 10.32 Zzh st 1.0015.00 ~ 1001 94.54 | =nS | 5,00 ~ 1001|204 10.32
14 100kN/MZ#B% % - -~ - -|3mEHEZD -~ - - -| 100kN/mM%# 2% - -~ - -|3mEEZ B -~ - - -
Zzh st 1.001 000 ~ 641 80.63 | Enst | 000 ~ 0.00| 1.59 801 zhnLst 1.00 | 5.00 ~ 823 80.63 | =hs | 5.00 ~ 823 | 1.59 801
15 100kN/M%#B% % - -~ - -|3mEEZD -~ - - -| 100kN/mM%# 2% - -~ - -|3mEEZ B -~ - -
Zh st 1.00 ] 0.00 ~ 573 71.68 | TS | 000 ~ 0.00]| 166 8.40 st 1.00 ] 5.00 ~ 6.48 71.68 | ThLS | 6500 ~ 6.45 | 1.66 8.40_
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SMERH O T inICHET 5L SERHEA
ﬁf‘g TREOBBOFELADOKRES rTaFOHBESELNDOKRES TREFOBBOEILADKRES TREFOHBESILNIDOKRES
= = WE A\ [ WE A\ T = = = = = AN = [ =
B E 4 .(Er,né; 'Fiwb(z)d)ﬂﬁﬁﬁ jj(l?l\fn%é X 4 Tiﬁﬁéﬁzggﬂ: .(s:f)t jj(l?l\fn%é E 4 .(Er,na; J:imb(z)o)tt.a jj(l?l\fn%é X 4 J:imb(z)@l:l:.s; .(s:f)t jj(liDan%é
16 100kN/MZ#B% % - ~ -|3mEHEZD ~ - -| 100kN/mM%# 2z % - ~ -|3mEHEZ B -~ -
Zzh st 1.00 | 000 ~ 769 98.61 | =nst 000 ~ 769|198 10.02 zhnLst 1.00 | 5.00 ~ 1139 98.61 | =nLS | 6.00 ~ 11.39] 1.98 10.02
17 100kN/MZ#B% % - ~ -|3mEEZD ~ - -| 100kN/mM%# %% - ~ -|3mEEZ B -~ - -
Zzh st ~ -| Fhst ~ Zzh st ~ -| Fhst ~
18 100kN/MZ#B% % ~ -|3mEEZD ~ -| 100kN/mM%# %% ~ -|3mEEZ B -~
Zzh st ~ -| Fhst ~ Zzh st ~ -| Fhst ~
19 100kN/MZ#B% % ~ -|3mEEZD ~ -| 100kN/mM%# 2% ~ -|3mEEZ S -~
Zzh st ~ -| Fhst ~ Zzh st ~ -| Fhst ~
20 100kN/MZ#B% % ~ -|3mEHEZD ~ -| 100kN/mM%# 2% ~ -|3mEEZ B -~
Zzh st 1.00 ] 000 ~ 583 72.97 | =S | 000 ~ 000|157 7.92 zhnLst 1.00 | 5.00 ~ 720 7297 | TnLUS 600 ~ 7.20)1.567 7.92
27 100kN/MZ#B% % - ~ -|3mEHEZD ~ - -| 100kN/mM%# %% - -~ - -|3mEHEZ B -~ - - -
Zzh st 1.00 1 000 ~ 592 74.18 | ThLS | 000 ~ 0.00)| 1.61 814 zhnLst 1.00 | 5.00 ~ 7.05 7418 | TnLS | 6.00 ~ 7.06 ) 1.61 814
29 100kN/MZ#B% % - ~ -|3mEHEZD ~ -| 100kN/mM%# 2% - -~ - -|3mEEZ B -~ - -
Zzh st 1.00) 000 ~ 626 78.68 | TnLS | 000 ~ 000|157 7.96 zhnLst 1.00 | 5.00 ~ 803 7868 | TnLS | 5.00 ~ 8031567 7.96
23 100kN/MZ#B% % - ~ -|3mEHEZD ~ - -| 100kN/mM%# 2z % - ~ -|3mEEZ S -~ - - -
Zzh st 1.001 000 ~ 6.07 76.06 | ThLS | 000 ~ 000|157 7.92 zhnLst 1.00 | 5.00 ~ 768 76.06 | TnLS |6.00 ~ 7.68)1.567 7.92
24 100kN/MZ#B% % - ~ -|3mEHEZD ~ - -| 100kN/mM%# 2z % - -~ - -|3mEEZ S -~ - - -
Zzh st 1.001 000 ~ 572 71.52 | =ns | 000 ~ 000|157 7.92 zhnLst 1.00 | 5.00 ~ 6.98 71.52 | TnLS | 6.00 ~ 6.95)1.567 7.92
25 100kN/MZ#B% % - ~ -|3mEHEZD ~ - -| 100kN/mM%# 2% - -~ - -|3mEEZ S -~ - - -
Zh s 1.00 | 000 ~ 501 62.46 | Fhust | 000 ~ 0.00| 1.60 810 Zh s 1001500 ~ 556 62.46 | ThUS | 5,00 ~ 5.56 | 1.60 810
2% 100kN/MZ#B% % - ~ -|3mEHEZD ~ -| 100kN/mM%# 2z % - ~ - -|3mEEZ B -~ - -
Zzh st 1.001 000 ~ 511 63.68 | TS (000 ~ 000|172 8.67 zhnLst 1.00 | 5.00 ~ 546 63.68 | TnLS | 6.00 ~ 546 1.72 867
27 100kN/MZ#B% % - ~ -|3mEHEZD ~ - -| 100kN/mM%# 2% - -~ - -|3mEEZ B -~ - - -
Zh s 100|000 ~ 482 60.06 | #nhust | 000 ~ 000|162 8.20 Zh s 1001500 ~ 520 60.06 | Ths | 500 ~ 520 162 8.20
28 100kN/M%#B% % - ~ -|3mEHEZD ~ - -| 100kN/mM%# 2z % - -~ - -|3mEEZ B -~ - - -
Zzh st 1.00 1 000 ~ 471 58.69 | =S | 000 ~ 000|164 829 zhnLst 1.00 | 5.00 ~ 5.00 5869 | TN | 500 ~ 5.00| 1.64 829
100kN/MZ#B% % ~ 3ImEHAD ~ 100kN/m%Z#B %% ~ ImEEZD ~
Zzh st ~ zh sk ~ Zzh st ~ zh sk ~
100kN/M%#B% % ~ 3ImEHAD ~ 100kN/m%Z#B %% ~ ImEEZD ~
Zh st ~ Zh sk ~ Zh st ~ Zh s ~
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